Present Perfect Tense (%)< B0 JONIN)

(T STNS T TP N BTG (I T (910R [T O T JUN TSN ©IP (12 VB JPIF Present
Perfect Tense J(<T|

AT (GND ARG GATH
I {FHTNTE (0T (TR 2R 200N 7 0T AT SO BT OF NS A6 TONN 2T |

1.Structure

Subject + has/ have + verb (3" ) + object

Note : TN LTS R(J 3" person singular no ’:c?vrwafm He, She, It €T @W?m’@, B 91 G NI =0T has
X011 ,We , you ,They 4R EIRY plural subject d9 (*(¥ have JCA

Example:

- i wIe (YR |

-4¥ICN (1 =7 subject — She

“OIIANS NI WA IS has

~Verb (YTACE WA} eat 47 3/ past participle form eaten
-l object IANCO R(<- rice at lunch.

She has eaten rice .

I (orN1g 63 (AR - | have gotten your letter.
51 fmfet fSCAR - He has gone to Delhi.
AT QG WA AIHT FULCRN — Mother has cooked meat today.

[fSHT

O MRS MR

She has gone to Darjeeling.
% M I 51 SroIeT nRfGer: MR

JIFID Present Perfect Tense 7 WS NS ATSNAS JLTN SN SLHY |WZ | S12 IFIG 20 She went to
Darjeeling yesterday. VR Simple past Tense.

JISAT 1T NP [P Present Perfect Tense WO ®N(® A8 IM SINY OlHY FAT AN I W0©
STRICP (AT O[] 9 Simple past Tense RAJ|

AT AT JMCPT (NP [GUPH Present Perfect Tense I WO WV AINTAS (B (F Present Indefinite
Tense $FF(0 | (TN -

WOId 0 IRT T AA(R|

She is twenty now.




ABIO e =S IRl
The road goes upto Delhi.

IOl (@AM R

Bright sun is up.

2.Negative Sentences: I Present Perfect Tense A9 NI IH6F JMHT ((TH1] ﬁ5§ ICERY Rl

Structure:

Subject + has/ have +not + verb (3™) + object
Example:

T G TS ©1® 41 |

She has not eaten rice at lunch.

QN OIS FAM|

You have not studied.

I B fGr=re I 1

They have not gone to the Zoo.

3.Positive Interrogative Sentence: e Present Perfect Tense <9 =T A6F HNRILPH IFT (UK FZ
Ry =y |

Structure:

Have/has + Subject + verb (3 ) + object
(o= 5 FeT fATafRee 2

Have you gone to school?

o1 6 F1afb dRR?

Has she done the work?

311 3 A fRetargA?

Has father returned to home?

4. Negative Interrogative Sentence: JISIY Present Perfect Tense SF NI A6 RGP IHT ((TAK [FZ
ICERAC(6]

Structure:
Have/has + Subject + not+ verb (3™) + object
Example:

RSV RN BRI BIDK

Has he not gone to Uncle’s house today?




oY fF FIGIT Faf?

Have you not done the work?
IR F TGy (YTEAf?

Have they not played today?

5.Positive Wh-word Interrogative Sentence: JI{¢1X Present Perfect Tense 49 Wh-word 49 LRI What( &
), Where ( CBTYTH ),Why ( (PN),When (FLYN),Which ( R ),How (I%wlca) R IO ANQILH AFT (1419
&g N =my|

Structure:

Wh-word +Have/has + Subject + verb (3") + object
Example:

(TN FY MG =P 2

When have you returned home?

I (R fATre?

Where have they gone?

7 AT fF (4TR?

What have she eaten at dinner?

6.Negative Wh-word Interrogative Sentence: I Present Perfect Tense 49 Wh-word &< VRN What( &
), Where ( CTT ),Why ( (F),When (F4),Which ( (BTG ),How (fFSTTI) 1 I6F 2@EF I (FLF

g N =my|

Structure:

Wh-word +not+Have/has + Subject + verb (3) + object
Example:

QT 51CETR I3 16 A (@2

Why have not you read the story book?

O (1T I X2

Where have not /haven’t she gone?

I FLN OIS HL 2

When haven't they study?




